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1. Using the Midpoint Rule with n = 3, the approximation of the area of the region
bounded by the graph of f(z) = sinz and the z-axis for 0 < z < 7 is equal to

(a) 2?” (correct)

(b) %” i law o Example g d

(0) 37 4? C’klg./.’_ oo 57

2. On the interval [0,2v/3], lim ci\/c? +4Az; =
s | ] IIAII—>01.Z=1:

56

(a) . (correct)
((b; 203 Similarv Fo Q#12

c) 24

() 20 P M‘y@ S\3

(e) 243
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6
3. / |5 — 2z| dzx =
-1

(a) 7 (correct)

(b) = Q¥ poge 328

o 2 2
4. / (sin® z cos z + sec” z tan” z) dx =

(a) 2\/§ (correct)
(b) 0 Similar Fo Exwmf’ewtlu
() j_i Page 3bo ond
Sty Q% 42 pageBHl
(e) 28
3




233. Math 102, Final Exam Page 3 of 10 MASTER

5. The area of the surface formed by revolving the graph of y = V25 — 22, —1 <z <4
about the z-axis is equal to

(a) o0 (correct)
(b) 607 < ) o\io =

(c) 557 B = Pmy 2l

(d) 657

(e) 457

6. /cosS(:c) sin?(z) dz =

sin’(z) % sin’ (z)

(=) 5 7§ G (correct)
(b) _sin‘;(:l?) 7 Sin;(m) LC @\ * 5 P eyt 528
sin®(z)  sin®(x)
e i e
in’(z in®(z
(it 5( ) Sln3( P
sin’(z) sin®(z)
B 0
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5
7. The improper integral / Eda:
0 T

(a) diverges

Page 4 of 10 MASTER

(correct)

(b) converges to In5
(c) converges to 2In5
(d) converges to 101In5

(e) converges to 5Inb

T
8. Th i
(<] Sequence {n2 i 1} 1S

R 434 page 5 19

(correct)

(a) monotonic but not bounded
(b) bounded but not monotonic
(c) monotonic and bounded

(d) neither monotonic nor bounded

(e) convergent

S‘nm”M o Exawm PL&

H 9(b) P29 595
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_1\n)
9. The sequence {M}
n n=1

a) converges to 0 (correct)

(a)

st Sl
)
)

(d) diverges P (M«,;}i 54

(e) is not bounded

10. Which of the following statements is true about the two series

0 3m (nﬂ)’ ). 3 (sm2y Similar ko @ 3F PW)
n=1 & e 6;05 ml
k58 Pane 606
(a

) (I) is a divergent series but (II) is a convergent series (correct)
(b) (I) is a convergent series but (II) is a divergent series
(c) Both series are convergent
(d) Both series are divergent
)

(e) The sequence of partial sums of (I) is decreasing
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11. The first three terms of the Taylor series generated by the function f(z) = 1 .
-z
centered at ¢ = 2 are
1
(a) 5 T %(T = 2) o é(:l? I 2)2 (correct)
(b)%+%(m—2)+1—16(z—2)2 Similev ko Q¥ 10
| oag L 63
(C)—+—(:£—2)—l(a:—2)2 () )/ =
2. 4
(d) 2+ 2(z —4) — 4(x — 4)?
iy 1 -
©) 3= 7@ -2+ 5 ~2)
y d Fervag
12. The geometric series 6 — 3 + T +...
(a) is convergent and its sum is 4 (correct)
(b) is convergent and its sum is 5 St ov ko Q 4“:3'5 }gtf
is convergent and its sum is z , 05
C 2 P c\’éj)

2519
(d) is convergent and its sum is 3

(e) is divergent
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) 2
n
13. The series E — is
3
per +1

a) divergent by the Integral Test (correct)

(
(b) divergent by the n'h-Term Test Simila v ke ‘

' v ) -Am| i" e
d) convergent by the Comparison Test f? A (3 (.L()L 6 \ O

)

)
(c) convergent by the Integral Test
(d)
(e) convergent by the Limit Comparison Test

o0
1
14. Tlleserieszl+2+3+4+

n=1

a) converges by the limit comparison test (correct)

(a)

(b) diverges by the integral test (,i =2 8 ?(‘—f)ﬂ’ 623

(c) converges by the ratio test
)
)

th

(d) diverges by the n'" term test for divergence

(e) diverges by the comparison test
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00
(L)
15. The series Z -
i, +1

(a) converges conditionally (correct)

(b) converges absolutely

)

) e

(c) diverges Simllor o Q25

(d) is not bounded ot £90
) Prgr 629

(e) is monotonic

16. Which of the following statements is true about the two series

(1). ;(371)!’ (11). Z( = )

n=1

(a) Both series converge (correct)
(b) The series (I) converges but the series (II) diverges SimVar bo Q3
(c) The series (I) diverges but the series (II) converges pag B3F and
(d) Both series diverge g

, . A 50 pagl
(e) The sequence of partial sums of (II) is not monotonic

638
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17. Using a fourth Maclaurin polynomial of the function f(x) = e** the approximation
of the value of e is equal to

(a) ﬂ (correct)

() o R 39 ‘poar 649

c0 _1)71 x2n+1
18. The interval of convergence of the power series Z —_— s

— 2n+1

(a) [—lv 1]
(b) (_1’ 1]

(o) [=L. 1) A3 30 s 658
dri=11

(e) (_OO? OO)

(correct)
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2 1
19. A power series centered at 0 for f(z) = :; ax 1 is

oo

(a) _Z(:Lﬂn +2£E(2"+1)) (correct)
g Simi) av Fo Emample 4 3
o) §30<$2" — g5fome) Pone 663

| ¥
2(2:5211 — p(2n+1) ) O.«-i ‘L\',L) z — kll‘*‘\) ( I—:__;C'/>
o
&) Y (-2 4 2t = Loy J 60
nzo

n=0

= : = 2y
e) Z(zZn +2$(2n+1)) b ,(')/')(_‘_‘) Z: ¢

n=0

2n"

oV
P
G Z(quﬂf?t )

20. The Maclaurin Series for the function f(z) = eT is

(correct)

2" n!

Q427 paye 6%
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